CITY OF NEW BEDFORD

APPLICATION FOR LAYING BUILDING SEWER AND/OR DRAIN SERVICE

esa St. street, face repaired as directed by the Commissioner of the City Treasurer all cost of performing the above e deposit made herewith, within 10 days after the
face repaired as directed by the Commissioner of the City Treasurer all cost of performing the above e deposit made herewith, within 10 days after the
face repaired as directed by the Commissioner of the City Treasurer all cost of performing the above e deposit made herewith, within 10 days after the
face repaired as directed by the Commissioner of the City Treasurer all cost of performing the above e deposit made herewith, within 10 days after the
face repaired as directed by the Commissioner of the City Treasurer all cost of performing the above e deposit made herewith, within 10 days after the
face repaired as directed by the Commissioner of the City Treasurer all cost of performing the above e deposit made herewith, within 10 days after the
e deposit made herewith, within 10 days after the
eposit made with this application shall be applied e work done, and that any excess of deposit over the asurer.
H. 1. 271
Signature of Property Owner
73 Cabital At
Telephone No.
Plumber's Name
Address
d/or Commercial Applicants:
supplemental information as may be required by the proposed wastewater discharge.
Signature of Applicant (owner)
lic Works on
Date
Commissioner of Public Works
Deposit Requirement
ommissioner of Public Works, 8/25/75
ouilding sewer and/or drain described in the above
Total deposit required
Derrye 11 B. It
Commissioner of Public Works
cate of Issue
Office of City Clerk,
by City Treasurer's receipt presented this day; vas issued, and the Commissioner of Public Works
vas issued, and the Commissioner of Public Works
1111 6
Aller Jasephers Øity Clerk
Eity Clerk
t l

	SSIONER OF PUBLIC WORKS
Length of service 28 ft.	beloed (0/20/21 @)
Sewer depth 7 ½	1 pipe system
Surf. drain	Contractor's Name (if working on City Property)
City o	f New Bedford,
Drain Permit Nº 19797	Office of D. P. W., August 25, 1975 Date
To Commissioner of Public Works. Permission has this day been issued to Jailera A. Mina	73 Capital St. 3-1034
Signature of Property Owner By	Address
	Address
to lay a building sewer/drain service from t W.S. Teresa St. (dead end)	the premises at
to connect with the sewer/drain in Ter	esa St. street.
Laid from main in street to property line. Owner agrees to supply all necessary materials and transite pipe.	By Eller Green y
Requires separate entrance for sewage and roof Enter M.H. at end of sewer A	water seed

RETURN OF FOREMAN

Labor hours @ Derv Jesse Tavaren 5" 4.73 Dor: Knobert ST. Pierre 5" 4.04-20.20 Larry Preston 5" 3.84-19.20 Ton Burke 5" 3.98-19.90 Joe Maccedo 5" 4.16-20.80	= 23.6
Dor: Knobert ST. Pierre 5" 4.04-20.20 harry Preston 5" 3.84-19.20 Toy Burke 5" 3.98-19.90 Joe Mecodo 5" 4.16-20.80	
Toy Burke 5" 3.98-19.90 Joe Mecodo 5" 4.16-20.80)
Toy Burke 5" 3.98-19.90 Joe Mecodo 5" 4.16-20.80	
Joe Mecodo 5" 4.16-20,80	-
	103.7
"	_ 100.1
Stock	
	- 1 2
1/2 b 2 g Cement @2.70-	
	- •
an 1513 B. T. Street	7.75
97.83 73,	1.1.
Trucking	-
SONH 35 - 3-HRS \$ 7.00-	21.0
Trk 116-1-4R. 3.45-	3.4
mpres 52-1-HR 3.80-	3.8
	181.20
Estimate-cost of laying drain 177 80	
Entrance charges	
Total deposit	
Balance due Lity	20
Di (3) Irialt, 1-5 1A	
Pieces pipe to curb (3) /-(off) -5	04
" " curb to house 21-10ff: 1-3;	PI
Cut at sewer	
Cut at curb	
Size of pipe & Transite	
Correct	
Jose m Lovres Foreman	
Forman	V47